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QUESTION 1

What are three content-types that the Web compression function can properly compress? (Choose three.)
A. text/plain (.txt)

B. application/visio (.vis)

C. application/ms-word (.doc)

D. bin/executable (.exe)

E. text/html (.html, .htm)

Correct Answer: ACE

QUESTION 2

Which statement is correct regarding the configuration of a backup device in an active/passive cluster?
A. It must point to the virtual IP address configured on the master device.

B. The internal gateway IP address must not match other members\\' addresses.

C. The configuration of the interfaces must be on the same subnet as other members.

D. It can join any cluster simply by pointing to the master device in any subnet.

Correct Answer: C

QUESTION 3

What are two advantages of using an IVS? (Choose two.)

A. All VS admins can troubleshoot the virtual system using tools such as TCP dump and traceroute.

B. All VS admin can create their own roles and realms that are separate from the other virtual systems.
C. All VS admins can be virtually separated using virtual IP addresses and VLAN tagging.

D. All VS admin can upgrade their virtual system without affecting the other virtual systems on the device.

Correct Answer: BC

QUESTION 4

When configuring a realm to require multiple sign-in credentials, which three are valid secondary authentication
methods? (Choose three.)
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A. client certificate
B. RADIUS

C. Netegrity

D. LDAP

E. Active Directory

Correct Answer: BDE

QUESTION 5

Which two elements do detailed resource policy rules contain? (Choose two.)
A. role

B. resources

C. rule name

D. action

Correct Answer: BD
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